



BULK
PRODUCTS
CATALOG

Michałki z Hanki[®] 9kg
Sweets with peanuts

56 boxes / 7 layers / 504 kg



Michałki z Hanki[®] adwokatowe 9kg
Advocat flavored sweets

56 boxes / 7 layers / 504 kg



Michałki z Hanki[®] karmelowe 9kg
Caramel flavored sweets with

56 boxes / 7 layers / 504 kg



Michałki z Hanki[®] kokosowe 9kg
Coconut flavored sweets with peanuts

56 boxes / 7 layers / 504 kg



Michałki z Hanki[®] Milk 9kg
Sweets with peanuts in white coating

56 boxes / 7 layers / 504 kg



Truffle Premium 8kg
Rum flavored sweets

56 boxes / 7 layers / 448 kg



Truffle Premium Milk 8kg
Rum flavored sweets in white coating

56 boxes / 7 layers / 448 kg



Gruszkowy 8kg
Pear flavored sweets in white coating

56 boxes / 7 layers / 448 kg



Michałki 7kg

Sweets with peanuts

56 boxes / 7 layers / 392 kg



5 901218 051127



Michałki Chałwowe 7kg

Halva flavored sweets with peanuts

56 boxes / 7 layers / 392 kg



5 901218 051172

Michałki Śnieżkowe 7kg

Sweets with peanuts in white coating

56 boxes / 7 layers / 392 kg



5 901218 051134



Mieszanka ze Śnieżki 7kg

Mix of sweets: Michałki, Michałki Śnieżkowe, Rococo, Orange jelly

56 boxes / 7 layers / 392 kg



5 901218 061768



Truffle 7kg

Rum flavored sweets in chocolate

81 boxes / 9 layers / 324 kg



5 900278 009574



Bombajki 7kg

Cream flavored sweets

56 boxes / 7 layers / 392 kg



5 901218 061676

Kafejki 7kg

Coffee flavored sweets

56 boxes / 7 layers / 392 kg



5 901218 061669



Galaretki 7kg

Mix of jelly in chocolate: orange, lemon, raspberry

81 boxes / 9 layers / 324 kg



5 900278 013168



DUO Trufla z galaretką 7kg

Rum flavored sweets with orange jelly decorated with cocoa sprinkles

56 boxes / 7 layers / 392 kg



5 901218 061591



Pastyłki[®] z maczkiem 4, 7kg

Cream flavored sweets with colorful sprinkles

48 boxes / 6 layers / 225,6 kg



5 901218 061232

Trufla z galaretką 4, 7kg

Rum flavored sweets with orange jelly decorated with cocoa sprinkles

48 boxes / 6 layers / 225,6 kg



5 901218 061263



Trufla z maczkiem 4, 7kg

Rum flavored sweets decorated with cocoa sprinkles

48 boxes / 6 layers / 225,6 kg



5 901218 061683



ul. H. Sienkiewicza 36,
58 - 160 Świebodzice
tel. +48 74 665 06 20

www.zpc-sniezka.pl

like
us!



/ZPCSniezka